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Q1: Determine the switching and conduction losses of a power switch whose
voltage and current waveforms are as below:
toerﬁL’S, toff=1,LLS, |off=0, Von=g,V, Vorr=500 V, lor=10A v/

o Vep) v
1‘ / / Vol’l’ = Joe

Ion
— On r."

- to ) X 50 3 “\io_n.-/
< B k
fS? < (_—){ > ‘}l’ u/'(-é
T, =100 s \P\
__________________ - - - - - 8 __ - - .
S
_ Sy /S
(e~ 57 L
! b 7
Loed Voa 3 Lonx 2 *77 ) 5 AEO R o Il SR ...
P ( /09 /80 o
¥, r wt
------------------ - 3 #IE{‘" oo I \{o-ﬂ-ﬂ-lgﬂ-;---f»&*Ja-?3—-,-.-‘;------------------------
p—"’ — 1 /A’,; o
“*—-In_# :: g5 >
/ M / M
“““““““““ = 5655 X Ty =5 5 =
g-—ovt == - — - _2 ‘j_. Ak s
A Xy M3 &
Presenter: Dr. Firug Zare www. peeeb. com

Tutoria 2 2



Vﬂﬁ I
\ on
Atofr t Von
o S0ps \
>
< Ts=100 ps
________ "‘SL"G ____:____[50;_571___,__.2‘ fl‘-&l@ .
' e !_Soaf\ = <3 9?5-»__:_-__‘5‘@ “““ R oG RaR e
e T I R . R —
0 e .ﬁ_/q'; """" W#%’u """"""""""
Yo = j
Presenter: Dr. Firug Zare www. peeeb. com

Tutoria 2 3



=

Q2: In the following circuit, the thyristor has a latching current level of 50mA and to
turn on it, a pulse voltage is applied to a gate terminal of the switch. What is a
minimum pulse width for the gate signal to keep the switch in the on state when we

remove the gate sighal. Neglect the thyristor voltage drop and no delay in switching.
Vin=200V +/- 10% ¥ ScR v
/L=1mH +/- 5% T L
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